. -

2) 3X2+2X -1
2X2 - 2X+8

5X2 +7

3) 5X2 + 4X + 7
X2 +3X+ 7

4X2 +7X +14

4) (X+3)(X+3)=X2+6X+9

5) (2X +4)(X + é) =2x2

10)

11)

12)

13)

+2) =3X2 + 6X

20)

2X2-7X+6

14Y2 4+ 49Y
14Y2 4+ 59Y + 35

2X -3
x X-2

4X +6
2X2 - 3X

2X2 +2X
2X2 -4X-6
X-5 ‘
A
Y2
7-2+5-(-2) = 75
A7B-3

52'5 =510

2Y +
X 7Y+5

10Y + 35

21A

X+2

X+2

3)

X+1

4)

X+2

X+1

6)

X+2

7

X+1

X+1

X+2

X+3

X+ 10

X+4

X+7

X+6

X+2

X X+2

2X + 4
X2 4+ 2X

X2 +4X + 4

X+3

X X+2

2X + 6

X2 4+ 3X

X2 +5X +6

X+ 10

X X+ 1

X +10
X2 + 10X

X2 + 11X + 10

X+4

X X+2

2X +8
X2 + 4X

X2 +6X +8

X+7

b ¢ X+1

X+7

X2 + 7X

X2 +8X+7

X +6

X X +2

2X +12
X2 + 6X

X2 +8X +12

X+ 11

X+ 1
X2 + 11X

X+ 11

X+6

X+6

X X+1

X+6
X2 + 2X

X2 +7X +6

x X+ 1

X2 +12X + 11

9)

X+2

X+7

X+ 7
X X+ 2

2X + 14
X2 + 7X

X2 +9X + 14

10)

X+1

wamn) X+ 15

X X+ 1
X+ 15

X2 + 15X

X2 + 16X + 15

11)

X +1

12)

X+1

13)

X+1

X+15

X+2

X+3

X+8

X+2
X X+ 1

X+2
X2 + 2X
X2 +3X + 2

X+3
x  X+1

X+3
X2 + 3X
X2 +4X +3

X+8
x  X+1

X+8
X2 + 8X
X2 +9X +8

X+ 18

14)

X+1

X X+ 1

X +18
X2 4+ 18X

15)

X+4

16)

X+3

X+18

X+5

X+7

L X2 + 19X + 18

X+ 5
x X+ 4

4X + 20
X2 + 5X

X2 +9X + 20

X+ 7
X X+ 8

3X +21
X2 + 7X

X2 + 10X + 21

V1¢ - 30¢ suonnjos



21B

X+2

2)

X+4

3)

X+2

4)

X+3

X+3

X+5

X+8

X+7

X+ 8
x X+ 2

2X +16
X2 + 8X
X2 + 10X + 16

X+ 7
X X+ 4

4X + 28
X2 + 7X
X2 + 11X + 28

X+ 11

X X+ 2

2X + 22
X2 + 11X

X+ 11

X+4

X+5

X+6

X+1

X+4

8)

X+1

X+5

X+ 4
X X+ 3

3X+12
X2 + 4X
X2 +7X +12

X+ 5
X X+ 3

3X +15
X2 + 5X
X2 +8X + 15

X + 6

X X+5

5X + 30
X2 + 6X

X2 + 11X + 30

X+4
X X+1

X+4
X2 + 4X

X2 +5X + 4

X+5
X X+1

X+5
X2 + 5X
X2 +6X +5

X2 + 13X + 22

X+4

X+ 4

X X+ 4
4X + 16

X2 + 4X

X2 +8X + 16

X+4

10)

X+10

X+2

X X+ 2

2X + 20
X2 + 10X
X2 + 12X + 20

11)

X+2

X+ 10

X+ 9
x X+ 2

2X + 18
X2 +9X

X2 + 11X + 18
X+9

12)

X+2

X+ 15
X X+ 2

2X + 30
X2 + 15X

13)

X+2

X+5

X+1

X+15

X+ 5

X X+ 2

2X + 10
X2 + 5X

X+5

X2 +7X +10

X+1

X X+1
X2 + X
X2 +2X +1

X+1

X+ 5

X X+ 5

5X + 25
X2 + 5X

X2 + 10X + 25

X+5

X +25 Check using same method
as other examples.

X2 +17X + 30

21C

1) X2+ 7X+12=(X+4)(X +3)

X+3

X+4

2) X2+10X +16 = (X +8)(X +2)

X+2

X+8

3) X2+ 11X +24=(X+8)(X+3)

X+3

X+8

4) X24+8X+12=(X+6)(X +2)

X+2

X+6

5) (X+4)(X+2)=X2+6X +8

) (X+5)(X+3)=X2+8X+15

9)
10)

11)

12)

13)
14)
15)
16)
17)

18)

19)

X2+ 7X+6 = (X +6)(X + 1)

X+6
X X+1

X+6
X2 + 6X

X2 +7X+6

X2 42X+ 1= (X +1)(X+1)

X+ 1
x X +1

X +1
X2 + X
X2 42X +1
2X2 - 7X- 3
X2 +5X+9
3X2 -2X+6

6X2 +2X + 1
X2-4X+3

7X2 -2X + 4
P-8p4 = p-4
R(-2)(-3)S3)(-3) = R6S-9
225
+4
1IN +2(N +2) = 6(N + 4) + 1
1IN+ 2N +4 =6N + 25
IN=25-4
N=3 3,5,7
.10D + .05N = .60, D+N=9

10D + 5N = 60
-5D - 5N = -45

5D =15
D=3 N=6

7X-Y=-3
Y

3

20)

Y <3/4X-5/4

Olc - dlg suonnjos



21D

1) X2 +11X =28 = (X + 7)(X + 4)

X+4

X+7
2) X24+4X=4=X+2)(X+2)

X+2

X+2

3) X2+6X+8=(X+4)X+2)

X+2

X+4

4) X2 +8X+16=(X+4)(X+4)

X+4

X+4

5) (X+5)(X+1)=X2 +6X +5

6) (X+3)(X+3)=X2+6X+9

7) X2 +12X+32=(X +8)(X +4)

8) X+8
X X+4

4X + 32
X2 + 8X

X2 + 12X + 32
9) X2 +20X+ 100 = (X + 10)(X + 10)

10) X + 10
x X+ 10

10X + 100
X2 + 10X

X2 + 20X + 100
11) X2 + X-4
X2 +3X+3
2X2 44X -1
12) 2X2+7X+ 6
5X2 - 4X + 10
7X2 +3X + 16
13) P(G)E)(-2) = p-30
14) anything to the “0” power equals 1
15) 121
16) +12

17) 14(N+2) + 4N = 12(N +4) - 2
18N+ 28=12N +46 -

6N =18
N=3 3,57
18) .10D + .05N =1.80, D+N=27
10D + 5N = 180
-6D - 5N =-135
5D =45 (9)+N=27
D=9 N=18
Y 4
/!
V\\ /
N A X
N
.
/
4 AN
/
¥
19) on the graph
20) m=-2/3

(-3)=-2/3(3) +b
b=-1

21E

1) X24+8X+7=(X+7)X+1)

X+1

X+7

2) X2+5X+6=(X+3)X+2)

X+2

X+3

3) X2 +9X+20=(X+5)(X+4)

X+4

X+5

4) X2 +8X+15= (X +5)(X +3)

X+3

X+5

5) (X+1)(X+9)=X2 +10X +9

X+1

X+9
6) (X+7)(X+2)=X2+9X+ 14

X+2

X+7

7) X2+7X+12=(X+3)(X +4)

8) X+ 3
x X+ 4

4X +12
X2 + 3X

X2 47X +12
9

-

X2+ 10X + 21 = (X + 3)(X + 7)

10) X+ 3
x X+ 7

7X +21
X2 + 3X
X2 + 10X + 21

1) 4X2 - 4X +1
X2 42X -1
5X2 -2X+0

12) 2X2+ 3X+3
X2 4+ 7X- 2

3X2 +10X + 1
13) PO+4-1 = pP3
14)  S()-2)R5 = $-4R5 (RO and SO = 1)
15) 169
16) +5

17) (N+1)+7(N+2)=5N
N+1+7N+14=5N

8N + 15 = 5N
N=-5 -5,-4,-3
18) .01P+.05N=.76, P+N=20
P+5N= 76
P - N=-20
4N = 56 P+(14)=20
N = 14 P=6
19) Y=-3/4X+4

Y

20) Y=32X-1

3l¢ - dle suonnjog



3C

oy oy

WO
oy
N

5) 4X+2=2X+8
4X+2-2 =2X+8-2
4X =2X+6
4X -2X =2X -2X +6
2X=6
2X+2=6+2
X=3

6) 3Y+5=2Y+7
3Y+5-5=2Y+7-5

3Y=2Y+2
3Y-2Y=2Y-2Y +2

Y=2

7) Q+4=3Q-6
Q+4-Q=3Q-Q-6

4=2Q-6
4+6=2Q-6+6

8) 2R+8=3R-2
2R-2R +8 = 3R -2R -2

8=R-2
8+2=R-2+2
10=R
9 9-3 (0 l-11]
6 71
6 < 7

100 h-2-3] & l2x3l

4| 6|
4 < 6

11) (-8)x4 +62x(3)+52=
-3x4+36x(-3) +25 =
-12 + (-108) + 25 =-120 + 25 = -95

12) 14-9+22)-(3+6x22)=
(14-9+44)-(3+6x 4)=
9-(3/6x4)=9-(12x4)=9-2=7

4 6 2
18) —— X ———+——=
% 3 X35 %3
1
2 BZ 3 _ 6 g
7 e 2 5 5
1 5 1
14) 17
.8
5
86
.136 (three decimal places in
answer)

15) (-8)(-7) =56

16) (-4)2 = (-4)(-4) = 16

17) 2=2,3=83,4=2x2,50LCM =2x2x3=12

6 1 4 2 3 1

+ M2) — = g8 —X
02 — g V4
(It is not necessary to write in “1” when
dividing terms unless you wish.)
6+8=3X, X=423

18) 2,5,4=2x2,s0LCM =2x2x5=20

408 o Do B T 8
o) X+ B =)

12X + 15 =30, X=11/4

19) 3,5,9=3x3,s0LCM =3x3x5=45

s —Lx+ (452 = umy L
s & &

5X+30=9, =+41/5

20) 4,4=2x2,8=2x2x2,
soLCM =2x2x2x5=40

5 1 SN I
%7'(9’6)/5/ “(96)7

-8X=15, X=-17/8

&

N

o
»

N
o
ONOn
LTI
WO
+
N

5) 4E 3

Co .

-3
4E
E

6) 3X+8=-2X-2
3X +2X =-2X +2X - 10
5X=-10
5X+5=-10+5
X=-2

7) 2Y-2=3Y-6
2Y-3Y=-6+2
Y =-4
(1Y) = (-1)(-4)
Y=4

8) Z+8=2Z+18

Z-22=18-8
-Z=10
Z=-10

9 Bx2x(2| G 24:(3)
12| -8
12 > -8

10) h7-3-201 (O +0+1]
]-6' ]81
6 < 8

11) [(6-2)x52-10]+52=

[4x25-10] + 25 =
[100 - 10] + 25 = 90 + 25 = 3 3/5 or 3.6

12) (-7-6)2-(4+5-3)2 =

14)

15)

16)

17)

18)

19)

20)

(-13)2 -62=169-36 =133

5 3 . 2 _
6 X7 T3 ~
5 & 38 _15
& 7 2 28
2

14,
aeles

12

48

48

2=2,56=5,10=2x5,s0LCM=2x5=10

2 6 1 7 5 5

o N e
[52¢)) - + (M) 36 (10) 4
12X +7=25X, X=7A13

100 =10 x 10, 1000 = 10x 10 x 10
LCM =10x10x 10 = 1000
1000(.83) + 1000(.04X) = 1000(.325)
830 + 40X = 325

40X = -505, X =-12.6250r -125/8

10 =10, 100 = 10 x 10

LCM =10x10 =100
100(.18) + 100(.2X) = 100(.17)
18 + 20X = 17

20X=-1, X=-05 or -1/20

10=10,100 =10 x 10

LCM =10x 10 = 100

100(.8X) + 100(1.3) = 100(7) + 100(.24)
80X + 130 = 700 + 24

80X =594, X =7.425 or 7 17/40

10.=10,100=10x 10

LCM =10x 10 = 100

100(8.2) - 100(4) = 100(.08X)
820 - 400 = 8X

420=8X, X =525 or 521/2

X

ag - Og suonnjos



